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C1 C2 | C3| C4 E1l E2
FE, H non incompatibili
27 44 6 m 7
F1 | 0.40129 ~3 60 5 © corretto P(EUH)=;
a=1 P(E/H) =%
© preferibile P(E|H)+ P(E|H) =1
FE, H non incompatibili
5 6 | ©=05Xn P(H) =1
F2 | 0.22663 ~39 60 % © corretto P(Eui ) = %
a=3 P(E|H) =3
O preferibile P(E|H)+ P(E|H) =2
FE, H non incompatibili
F3 | 0.18406 ~5 90 =0 © corretto P(EUH) = %
a=2 P(E|H) = g
© preferibile P(E|H)+ P(E|H) = 2
FE, H non incompatibili
9 11 0= %Xn P(H) = %
F4 | 0.25785 ~33 30 100 © corretto P(E UiH) = %
a=1 P(E|H) = %
O preferibile P(E|H)+ P(E|H) = 3




